HFH Fnﬂ Me www.haafa.co.kr

B YARZE NUT

| Technical Data |
« A E S84
« HOH D 0M(Z), LRIN), FEEHLIZE)

@ @ -
o s s - - h | Apphcation |

& msMe 10— ma,M5, M8 £s 0] = Al gAlo| ofd
— "‘ X7 YAO2 AR5
,,I (D/ : 71240] X3t BHo| 9uct,

Name Model Weight Applied Frame
Square Nut Tx7x2T-M4 20 Frame
Square Nut 8x8x2T-M4, M5 20 Frame
Square Nut 8x8x3T-M5, M6 20 Frame
Square Nut 10x10x3T-M5, M6 30 Frame
| 14 | M4, M5, M6, M& Square Nut 10x10x5T-M4, M5, M& 30 Frame
T Sqguare Nut 14x14x5T-M5, M6 M5, M6 40 Frame
Square Nut 14x14x6T-M4, M5, M6 M4, M5, M6, M8 40 Frame
= Square Nut 17x17x9T-M10 M10 45/50 Frame
— % F2 of) - SgN8-3
B
PR

B ZARZE NUT

.6 J i | Technical Data |
<M A : 5841
3| s CE O 0MRZ), LIEN), RHHLIAE)

&
16
4 b
d] -
- A
El
- 20 -
|M5,M5, Ma
f Name Model Weight Applied Frame
o Square Nut SqN6.2x6.8x2T-M4 1g/EA 20 Frame
1 Square Nut SgN10x12x5T-M6 8g/EA 40 Frame
( ‘] & Square Nut SgN14x16x6T-M4,M5,M6,M8 10g/EA 40 Frame
— - Square Nut SqN12.5x20x4.5T-M5,M6,M8 11g/EA 40 Frame
% F2 o)

69





